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Christmas Multiplication

Solve the following word problems.

Santa Claus has 6 sacks of gifts. Each sack
contains 7 gifts. How many gifts does Santa have
in total?

There are 9 reindeers in Santa’'s team. Each
reindeer has 4 legs. How many legs do all the
reindeers have in total?

A box of Christmas cookies contains 9 cookies. If
there are 8 boxes, how many cookies are there in
total?

A Christmas tree has 7 branches. Each branch has
6 ornaments. How many ornaments are there on
the tree?

In a Christmas carol group, there are 8 singers.
Each singer sings 3 songs. How many songs do
they sing in total?

There are 5 rows of Christmas lights. Each row has
7 lights. How many lights are there in total?

Each Christmas stocking has 4 candies. If there are
6 stockings, how many candies are there in total?

A baker makes 9 batches of gingerbread cookies.
Each batch has 5 cookies. How many cookies does
the baker make?

9 A family has 7 members. Each member receives 2
Ajf’rs. How many gifts are there in total?
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